BN /INDUSTRIAL PULLEY PULLER SN

2670 Newport Road NE, lowa City, |A 52240, 888-443-2288, www.pulleypuller.com

Parts List
ITEM | ITEM NUMBER ITEM NAME QTY
1 X9446 30 TON 2-JAW HUB 1
2 X9448 STRAP, 30 TON 4
3 X9447 PULLER ARM, 3-HOLE, 30 TON 2
4 2220584 SCREW, 3/4"-16 X 2-1/2", HHCS, GRADE 8 4
5 2350083 HEX NUT, 3/4"-16 4
6 X9428 COVER PLATE, 30 TON 1
7 RC-30-CH-2.5-TH 30 TON HYDRAULIC CYLINDER 1
8 01-001230 SCREW, 1/4"-20 X 5/8", FCHS 2
9 01-001232 SCREW, 3/8"-16 X 3/4", SHCS 2
10 X9427 FORCING SCREW, 30 TON 1
11 27198 BALL CRANK HANDLE 1
12 PUL-20TR-5 COUPLER-HOSE HALF 1
13 PUL-TR-2 HYDRAULIC HOSE, 6'-0" 1
14 PUL-20TR-1 HYDRAULIC PUMP 1

R
[ ] 0 '55”%:_)
= ® &6
f’i_ﬁj Ci g ﬂ %
/el T
B L
D o
L
P o \1@

&

T

™y
=)

©

o

www.pulleypuller.com



